
 

Changing the Subject #1 

Rewrite the following so that x is the subject.  

1. y = 4x + 2 

2. 3x + 5 = 2y 

3. y = 
 ௫ 

ହ
 

4. y = 
௫ ା ଶ

ହ
 

5. y = 
 ௫ 

ହ
 + 2 

6. y = –3x + 2 

7. 2y + 3x > 4 

8. y = 
 ହ 

௫
 

 

9. y = 
ହ

௫ ା ଶ
 

10. 
 ଶ 

௬
 = 

ହ

௫ ା ଶ
 

11. y + 2x = 
 ௫ 

ହ
 

12. y = x2 + 5 

13. y = sin (2x) 

14. y = (x – 5)2 

15. y = √𝑥 + 2  

16. y =ට
 ଷ 

௫
  

  



 

Answers for Changing the Subject #1 

There are sometimes multiple ways to write the answer – for example 
௬ ା ଶ

ସ
 = (y + 2) ÷ 4 

The answers here will use a fraction format, which is the best in most situations.  

1) y = 4x + 2 ⇒ y – 2 = 4x  ⇒ x = 
௬ – ଶ

ସ
   or   x = (y – 2) ÷ 4 etc 

2) 3x = 2y – 5 ⇒ x = 
ଶ௬ ି ହ

ଷ
 

3) y = 
 ௫ 

ହ
  ⇒ 5y = x  ⇒ x = 5y 

4) y = 
௫ ା ଶ

ହ
 ⇒ 5y = x + 2 ⇒ x = 5y – 2  

5) y = 
 ௫ 

ହ
 + 2 ⇒ y – 2 = 

 ௫ 

ହ
  ⇒ x = 5(y – 2) or   x = 5y – 10 

6) y = –3x + 2 ⇒ y – 2 = –3x ⇒ x = 
௬ ି ଶ

ିଷ
  or   x = 

ି௬ ା ଶ

ଷ
  

7) 2y + 3x > 4 ⇒  3x > 4 – 2y ⇒  x > 
ସ ି ଶ௬

ଷ
   

8) y = 
 ହ 

௫
  ⇒ xy = 5  ⇒  x = 

 ହ 

௬
 

 

9) y = 
ହ

௫ ା ଶ
 ⇒ (x + 2) y = 5 ⇒  x + 2 = 

ହ

 ௬ 
 ⇒ x = 

ହ

 ௬ 
 – 2  

10) 
 ଶ 

௬
 = 

ହ

௫ ା ଶ
 ⇒ 2x + 4 = 5y ⇒ 2x = 5y – 4 ⇒ x = 

ହ௬ ି ସ

ଶ
  (or 2.5y – 2) 

11) y + 2x = 
 ௫ 

ହ
  ⇒ 5y + 10x = x ⇒ 5y = –9x ⇒  x = 

ିହ௬

ଽ
   (or 

ିହ

ଽ
 y) 

12) y = x2 + 5 ⇒ y – 5 = x2 ⇒ x = ±ඥ𝑦 − 5    or   x = ±(y – 5)½  

13) y = sin (2x) ⇒  2x = sin–1(y) ⇒ x = ½ sin–1(y)    or   x = 
ୱ୧୬షభ(௬)

ଶ
 

14) y = (x – 5)2 ⇒ ±ඥ𝑦 = x + 5 ⇒ x = ±ඥ𝑦  – 5  

15) y = √𝑥 + 2  ⇒ y2 = x + 2 ⇒ x = y2 – 2 

16) y =ට
 ଷ 

௫
   ⇒ y2 = 

 ଷ 

௫
  ⇒ xy2 = 3 ⇒ x = 

 ଷ 

 ௬మ
   

 


